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Rajasthan Public Service Commission - 2016

Paper : Research-Assistant, Exam Date-24-08-2017

Ques # :1

approximate percent share of available surface water of rajasthan in india is :
1) 1.16

2) 11.40

3) 0.27

4) 13.20

TATATT H AT & TAEY STl T (STIT3T) ITeretl Yiaerd fearg :
1) 1.16
2) 11.40
3) 0.27
4) 13.20

Ques # :2

"kalpvriksh" of rajasthan is :
1) rohida

2) mahua

3) khejri

4) neem

TSI FT "HEIgaT” § :
D afger

2) mE3m

3) g

4) e

Ques # :3

the leading district of rajasthan for cattle rearing is :
1) jaisalmer

2) barmer

3) jaipur

4) kota

qRITereT Y TS { TrEYTeT 7 3raroft e g :
D Seerek

2) 1R

3) s

4) Fyer
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Ques # :4

approximate length of aravali range in rajasthan is :
1) 692 km.
2) 550 km.
3) 728 km.
4) 680 km.

TAEATT 7 3Gl Aft Y AT AFAS @ -
1) 692 faret.
2) 550 fepe.
3) 728 fepa.
4) 680 fape.

Ques # :5

" mangla " is associated with the mining of :
1) granite

2) lignite

3) natural gas

4) mineral oil

" FHITe " ForEd @t @ grafeua ¥
D) 3erze

2) foreaTrse

3) grepfaes 3

4) gfer e

Ques # :6

the region which is not a part of the western desert of rajasthan :
1) nagaur uplands

2) ghaggar plain

3) vindhyan scarpland

4) godwar land

TELTA & TRIH! FE TS HT IHIA LT 8
D sretiy 3<a s1fA

2) geeR e

3) faerae FaRAfA

4) alrzar syfA
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Ques #:7

which one of the following is not a manganese mining area in rajasthan ?
1) leelwani

2) kalakhuta

3) timmamori

4) rajpura

AT A A T A FlF-ar AT @aa FraT A g 2
1) Srerari

2) FrerdeT

3) faFATAY

MR

Ques # :8

Match List — | with List — Il and select the correct answer by using

the codes given below :

List —1 List—1I
(Sanctuaries / National Parks) (Districts)
A. Mukundura Hills (i) Ajmer
B. Todgarh (ii) Dholpur
C. VanVihar (iii) Bharatpur
D. Bandh Bairath (iv) Kota

1) A B C D
(iv) (i) (ii) (iii)
2) A B C D
(iii) (i) (ii) (iv)
3) A B C D
(i) (i) (iv) (i)
4) A B C D
(iv) (i) (i) (iiil)

T - | T HET - || F gATT FITST U9 A G T del d
HETOdl & H6T 3t & 99 HieiT

T -1 T -
(37U / IS 3EATH) (FSrel)
A. FFeELT SEIiRAT (i) 3r=TER
B. cisele (ii) e
C. @ TaEN (iii) ST
D. @ &S (iv) rer

D A B C D
(iv) (i) (i) (i)
2)
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A B C D
Gi) () (i) (iv)
3) A B C D
(ii) (iii)  (iv) (i)
4 A B C D
(iv) (ii) (i) (iii)

Ques # :9

" kanak sagar " isa:
1) tiger reserve

2) wood fossil park

3) bird sanctuary

4) black buck park

" el ARR " § :

D) arer wxfara e

2) FTS5 SATaRY 9Th
3) gefy 3Ry

) gor spar o

Ques #:10

which one of the following soils is found in hadoti plateau ?
1) vertisols

2) inceptisols

3) alfisols

4) antisols

st vor W frarfaf@a # & Fia-w Aar o arefr 8 2
D) gétarea

2) s=acdraed

3) srehrared

1) wdded

Ques # :11

the correct altitudinal sequence of mountain peaks of rajasthan in ascending order is :
1) taragarh, achalgarh, raghunathgarh, kumbhalgarh
2) taragarh, raghunathgarh, kumbhalgarh, achalgarh
3) kumbhalgarh, achalgarh, taragarh, raghunathgarh
4) achalgarh, kumbhalgarh, raghunathgarh, taragarh

TSTELT T TEANT DAY FT 3R IS FT AN IR FAE :
1)
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dRTdTg, e, T%HTW, @Tﬁqm
2) ARG, TgFlTil?IE.F, PFHCIG, deldlg
3) HFHCAIG, ATCING, ARTIE, TYATIIG
4) 3T, FFHANG, TG, ANTTG

Ques #:12

Match List — | with List — Il and select the correct answer by using

the codes given below :

List —1 List—1I
(Minerals) (Mining Areas)
A. Maganese (i) Jamsar
B. LeadandZinc (ii) Kho-Dariba
C. Copper (iii) Rajpura - Dariba
D. Gypsum (iv) Leelwani
1) A B C D
(i) (i) (v} (i)
2) A B C D
(ii) (i) (iii)  (iv)
3) A B C D
(iii)  (iv) (i) (ii)
4 A B C D

(iv) (iii) (ii) (i)

T - | @ FE - 1| @ gATod AT ud o fgd e del o
AT § HET 3/ & 904 fiAT -

gdr — | 4T — I
([@==n (@ &)
A, Herara (i) =THET
B. #MET Ud SEaT (i) @ - gfrar
C. diFar (iif) TroTT - gdrar
D. To—aH (iv) efterarar
1) A B C D
(i) (iii)) (i) (i)
2) A B C D

(i) @ () (i)
3) A B C D

(i) (iv) (i) (i)
4) A B C D

(iv) (iii) (ii) (i)

Ques #:13
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1) (Lakes) (Districts)
Panchpadra Lake Magaur

2) (Lakes) (Districts)
Dhebar Lake Udaipur

3) (Lakes) (Districts)
Gaib Sagar Lake Dungarpur

4) (Lakes) (Districts)
Talab Shahi Lake Dholpur

P A Y FargAfT adi 2

) (5 (fotem)
TaIE S AT

2) (&) (Tste)
<l e ECREN

3) (5= (Tstem)
T TR e A

4) (g (Tstem)
GIEIEHIHE=IE] GICEn

Ques # :14

Match List— | with List — Il and select the correct answer by using
the codes given below :

List—1

(Breed of Cow)

Tharparkar
Kankrej
Rathi
Magauri
1) A B
(i) (iii)
2) A B
(ii) (iv)
3) A B
(iv) (iii)
4) A B
(iii) (i)

°On w3

C
(i)
C

(iii)
C

(ii)
C

(i)

List— 1l

(Areas of Rajasthan)

(i) Central part

(ii) North Western part
(iii) South Western part

(iv) Western part
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T - | @ - I F R e AN R T e 6
TEIAT ¥ §el 3t & o994 AT

T -1 T -l
(3T & FE) (TTTET & EE)
A. A (i) FeTadl s
B. sisiat (i) 38T 9= S
C. Iér (iii) gfEof affTar &rer
D. aArei (iv) e e
1) A B C D

M ) G (iv)
2 A B C D

)  (v) (i) (i)
3) A B C D

(iv) (i) (i) ()
4) A B C

(i) (i) (i) (iv)

Ques #:15

in which region of rajasthan dry teak forests are found ?
1) north- eastern

2) central

3) southern

4) eastern

TSTETS & o Geer # s ARTET & o I ST & 2
D) See@r- gt

2) Fey

3) gfeof

4) ot

Ques #:16

in rajasthan the area under cereals in 2014-15 was (percent to total)

1) 80
2) 74
3) 70
4) 69

TSTEYT & 2014-15 & TSI HT 8 FH THR AT (F & FfA2rd)

1) 80
2) 74
3) 70
4) 69
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Ques #:17

according to agricultural census of 2010-11, the share of total operational holdings with marginal farmers
was (%)

1) 216
2) 185
3) 124
4) 108

2010-11 % FT¥ Il AT FIAVTAT F HTAR HATT FhI F I Sharefier Sial 1 sreqare (Ffaera

;) ST IR AT :
1) 21.6
2) 18.5
3) 12.4
4) 10.8

Ques #:18

inspite of contributing over 45 percent to total coriander production of india, rajasthan has not made any
headway in processing this crop. it's primary reason has been :

1) lack of technical knowledge

2) lack of capital

3) fear of competition from other states

4) shipping of 80 percent of output to gujarat

R A Fo iy & 45 YA IcUTET F IR $t TSTEYTT & 57 THol F IRIAATT F F1 garfer
Tt T § | SHPT VAT FROTAE ¢ :

1) qepstiehr 71T 7 319919

2) g3t T 31877

3) 3o U=t ¥ TuET AT S

4) 80 wfRId IedTest FT TRI Y FRSTaT &a

Ques #:19

for which crop project golden rays 2009 was launched in rajasthan ?
1) maize

2) arhar

3) mustard

4) wheat

TS H fhd FHd F faT WS MeseT 3T 1 IFH fRar A ar 2
1) srermr
2) 3RER
3) gt
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4) ;ﬂE
Ques # :20

which of the following is not an irrigation project of rajasthan ?
1) indira gandhi nahar pariyojna

2) narmada

3) jakham

4) sutlaj-yamuna link

g7 @ Fie Y IR TereuTe @ wrag e Y 2
1) gferr amefy s7g¥ aR@isrer

2) spafer

3) sr@H

4)~Hdoio1-¢ldzlja-ll IGED

Ques # :21

which is the most important source of power generation in rajasthan :
1) solar

2) wind

3) thermal

4) atomic

USTEYTA A ol Yool T FalTtF Ageaqol AT HlTaT e :
D) gre

2) arg

3) opsfey

4) amorfas

Ques # :22

in india, rajasthan stands first for oil seed crop production and that is -
1) rapeseed and mustard

2) cluster bean

3) cowpea

4) pearl millet

R H TSTEUT FT AT A8 Sculed A YAH TIA ¢ |
1) geat g s

2) enferam

3) 7w

4) grsrT
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Ques # :23

in rajasthan the productivity (kg/ha) of cotton for the year 2015-16 was
1) 461

2) 464

3) 515

4) 1140

TSTEATT H FI Y ST (Fralama/gFeay) av 2015-16 7 oft:
1) 461
2) 464
3) 515
4) 1140

Ques # :24

worldwide india ranked 7th in wool production, while state ranked 1st in india is :
1) jammu & kashmir

2) haryana

3) rajasthan

4) karnataka

faea # 51 IcuTes & AT 9RA F1 b af TUT= &, Fowh Faifs off e rer F @
D) srFr @ @resR

2) gfaoT

3) I

4) shelleeh

Ques # :25

the indira gandhi canal originates from which of the following dam :
1) bhakra nangal dam

2) rihand dam

3) harike dam

4) gandhi sagar dam

a1 a1TelY 7T &1 e & ¥ Fla AT seIH AT
D st sAerer

2)

3) &

4) aivelt IR

Ques # :26
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consider the following statements regarding the agricultural output in rajasthan during 2015-16. statement -(
a) production of food grains in rajasthan in rabi is more than the kharif. statement -( b) production of kharif
pulses is more than the rabi pulses. statement -( ¢) production of oilseeds in rabi is more than the kharif.
select the correct statements -

1) (a), (b) and ( ¢) are correct.
2) (a) and ( c) are correct.
3) (b) and ( ¢) are correct.
4) (a) and (b) are correct.

a¥ 2015-16 ¥ RTT WA # F eureer & west F et Fyat 1 o7 oy - F47 - (a)
TETEYT & WIETTeaAl T ScuTeeT T Y 38T Tt 7 STeT g1 § | FY - ( b) &t A greit
3r9eTT WHE FY STl FT 3cTET SATST & | FUT - ( o) Tl F Arergal w1 3curest e I ST 8t
¥ | 9 Fy=t Fr gfa-

D (@), (b) 3R (o) TEE|

2) () 3R (o) FETE|

3) (b) 3R (o) TETE|

) (2) 3R (b) TETE |

Ques # :27

rajasthan government fish farm 'sagrod’ is situated at-
1) tonk

2) kota

3) banswara

4) alwar

TELTT AIFR FT AET BT 'TRRIE BUT# -
D ot 3

2) prerH

3) SiearsT #

4) reraT #

Ques # :28

rajsico is providing export infrastructure services to the exporters / importers in rajasthan through dry ports
(inland container depot). these dry ports are situated at-

1) jaipur, jodhpur, bhilwara, bhiwadi
2) jaipur, jodhpur, alwar, udaipur

3) jaipur, udaipur, ajmer, alwar

4) jaipur, jodhpur bhilwara, ajmer

TR TSI # AHATAHI T FAATTH F T 96016 (75 Feeot 39) F Areaw & gt
FHIFCFIR AaT TETe FIaT § | ¥ q d6391e Rua § -
1)
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2) SR, SR, IHera, IEAR
3) ST, FEA, 3T, AT
4) SR, SrerqR HrerarsT, 3T

Ques # :29

rajasthan khadi and village industries board provide training to rural and urban youth in their training
centers. these centers are situated at -

1) ajmer, jaipur and sirohi
2) jaipur, udaipur and bikaner
3) jaipur, jodhpur and udaipur
4) jaipur, tonk and udaipur

ST WIEY T ATAIGHNIT A1 3rqar TiRvETor Fegh 7 amefior 7 ered ganait Y wiraror Sar g A
g U §-

D) 3rem, SR 3 Rgr

2) SR, 3EAR HR e F

3) SR, SR 3R 3EAR

4) SR, e 3R IR A

Ques # :30

garima balika sanrakshan evem samman yojana 2016 has been launched in rajasthan. the objective of the
scheme is -

1) to promote girls education in the state.
2) to import vocational training to girls for their being self reliant and self dependent.
3) to provide free technical education for empowerment of girls.

4) to recognise, reward and inspire the individuals and the organisations for their work in the field of protection of
girl child.

TAEATT H TRHAT TIforhT FIETOT T GFATA AT 2016 AR Y IS § | 5T ANSAAT FT 3T & -

1) Irsar 7 anforenT 18T &t Jerar 8T

2) Sferepr3it &Y ITcATIaTE Td AT Seitel & Tord) 3o caraaniaes TiRIeTor &

3) arferat werfFdatoT & ford 30 1. 9o danstiehT FRATT &a]

4) forenT TRETOT F 817 3 Icgpse FY A ATel SATFAAT T FEAT3HT Y AT, RERA TG
SicHTg &a

Ques # :31

who was the governor general of india when the subsidiary were signed by the british with the princely states
of erstwhile rajputana ?

1) metcalfe
2) ochterlony
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3) hastings
4) bentinck

o w3 3T GaRT dchTellel ASTYATT & ITSTaTE! & WY Herrs Wit o¥ granr Fr o
3 WHY AR HT TG PieT YT 2

D) #ewmm

2) et

3) ¥feeTw

Y 3w

Ques # :32

who was the founder of vidya pracharini sabha, which was established during the bijolia movement ?
1) vijay singh pathik

2) ramnarayan chaudhary

3) jamanalal bajaj

4) manikyalal varma

e seateer & gl Tl faga Rl @9 &1 Fvuas wia a1 2
D) frsrafde g

2) AT ey

3) vidHdllellel sallol

4) FTfOTFITIT THT

Ques # :33

who is the author of mutinies in rajputana?
1) i. t. prichard

2) g. s. trevor

3) c. L. sobers

4) nathuram khadgawat

FYRAT § TSTYATAT & AW ¢ :
D 3mg & s

2) Shog e

3) Y ver A

4) s Wsaad

Ques # :34

the seventh session of the all indian states peoples conference under the chairmanship of jawaharlal nehru
was held at ?

1) udaipur
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2) jaipur
3) jodhpur
4) ajmer

STATEAT AgS hY IeaTar # T HRAT G2ft T worm aRwg 1 wrerat srfder wat
ST gamar?

1) 33"’:'?9

2) SrRrgz

3) Shergy

4) 3R

Ques # :35

who gave the name "rajputana" for the rajasthan state and in which year?
1) george thomas , 1800

2) col. tod , 1806

3) max muller , 1815

4) fa-hien , 633

EYT TS T ATH " Torqara " fraar 3% g a8 o fem ar 2
1) Sitst atad , 1800

2) #terels, 1806

3) HFHerR , 1815

4) wrEaroT, 633

Ques # :36

who among the following rulers actively participated in the military campaign to suppress the mutineers of
1857?

1) takht singh of jodhpur
2) rai singh of bundi

3) ram singh of jaipur

4) sardar singh of bikaner

frrafaf@a & & fFw ams & teyb & PR & et 3 o 3 A e 3 s
IR F wiehT smer T ar 2

D) sherqR &1 aeafds

2) §&r T AT

3) SR 1 AARE

4) e T TER &g

Ques # :37
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who was the first elected president of the mewar prajamandal?
1) daulatmalla bhandari

2) bhanwar lal sarraf

3) manikyalal varma

4) balwant singh mehta

farafaf@a & @ #ia Aare yaHsd #1997 gafag sregsy 9
D) dterasree ssry

2) $7aelTel TTH

3) arfOrararetTer AT

4) gorda g Agan

Ques # :38

how many princely states were there in rajputana at the time of indian independence ?

1) 25
2) 19
3) 22
4y 29

HIE Y ATATEY F FHAT TTere o Geft Rarwret it v frasi 4t 2

1) 25
2) 19
3) 22
4) 29
Ques # :39

which of the following pairs about unification of rajasthan is not correctly matched :

1) alwar, bharatpur, dholpur & karauli - matsya sangh

2) jhalawar, bundi, banswara, dungarpur, kota, pratapgarh, kishangarh, tonk, shahpura & kushalgarh - rajasthan
sangh

3) rajasthan sangh and udaipur - united rajasthan

4) united rajasthan and matsya union - greater rajasthan

feaTfre # @ TSI & THEHOT  Hafeud Hi a1 g gAfAa adi ¥ 2

D) 3rera, sRAQR, Gt T el - FerT T

2) TeTaTs, 94Y, STHaTST, IR, HICT, SaTTers, fherters, 2ie, e T FHAAING - ASTEATH T
3) STEAT Y T 3G - HYFe ATeTeT

4) T TSEUTT T AET HY - Jgea T

Ques # :40

match the following: list i list ii (prajamandal) (founder) a. jaipur 1. nayanuram b. jodhpur 2. manikyalal
verma c. mewar 3. jainarayan vyas d. kota 4. karpurchand patni
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l)abcd4321
2)abcd2413
3)abcd1243
4)yabcd4231

gATAT FIFAY TSTHASST HEATIF a. FTIYX 1. TIIH AAT b, ST 2. AT W1 THT ¢. AT

3. STTRIAVT SATH d. FIET 4. FYIAE et
l)abcd4321
2)abcd2413
3)abcd1243
4)yabcd4231

Ques # :41

identify the incorrect pair of important freedom fighters of rajasthan and the places of their activity:
1) krishna dutt paliwal - dholpur state

2) jainarayan vyas - jodhpur state

3) raghubar dyal goyal - bikaner state

4) gopilal yadav - alwar state

TSTEUT & THE FAATAT FeTlel) UG 37 FHCAS F FFaeY A ITad IA F) Gga1iaw
D) Freoteee areiarer - titerqy Raraa

2) SR AT - SerqR NAree

3)@@??@?-%%1@3

4) IdreTer TTed - 3TelaX Raraa

Ques # :42

the ruler of which of the following state was made the rajpramukha of the matsya sangh in 1948 ?
1) bharatpur

2) karauli

3) dholpur

4) alwar

1948 #H W TT & ATHH FT ATT WY HT TSTIHE TATIT 3T ?
D) s
2) sl
3) eiorgz
4) sreraT

Ques # :43

who wrote the play kesar vilas, which is supposed to be the first play written in rajasthani ?

1) balkarishan lahoti

2) madanmohan siddha
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3) jamanaprasad pachoria
4) shivachandra bhartia

TSTELATT $TTHT T I AT HATo STTel aTeAT ATeh fohael fordr AT ?
D) grergsor amgiér

2) AeaAAE g

3) STH=ATYETE T RET

4) Rraaeg sRfaar

Ques # :44

who is credited to have brought the temples of badoli to light ?
1) james ferguson

2) g. h. ojha

3) james berges

4) james todd

aTETell & AT &) Toh1er & a1 FT AT RIT AT ?
e

2) 3. w30

3) Seg wifa

1) SFgers

Ques # :45

jamanadas, chhotelal, baksaram and nandalal are associated with which of the following styles of painting ?
1) alwar style

2) marwar style

3) bikaner style

4) jhalawar style

STHATEH, BIEATd, IFARIA 3R degare fRadar 61 7y S & gafraa g 2
1) 3rerax Qe

2) ARars

3) ST e

4) grermars Qe

Ques # :46

women do not take part in which one of the following dance of rajasthan ?
1) kathak

2) ghumar

3) gair
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4) terah tali

eyt & farafaf@a & ¥ frw s & wfgene smr a8t o 2
1) scues

2) g

3) At

4) Qxgare

Ques # :47

which one of the following navamis is called goga navami :

1) the navami (ninth day) of the shukla paksh (moonlit fortnight) of shravan (5th month of the hindu calendar)
2) the navami (ninth day) of the krishna paksh (dark fortnight) of bhadon (6th month of the hindu calendar)

3) the navami (ninth day) of the krishna paksh (moonlit fortnight) of shravan (5th month of the hindu calendar)
4) the navami (ninth day) of the shukla paksh (moonlit fortnight) of bhadon (6th month of the hindu calendar)

farafaf@a aaffst & & fa st Y Mo ol Faromarg
D) sirqot 3 greFer Tat & At & |
2) sTrge; 3 ST g&T Y AT |
3) ST & FHSUT 98T Y ATH |
4) $TTg e 3 Q[eFel T&T Y AT Y |

Ques # :48

the chief disciples of which saint of rajasthan are called 'fifty two pillars'?
1) pipa

2) dhanna

3) jambhoji

4) dadu dayal

TSI & ToFa Hod & woTe RSy aTaer a7 & 1o § e rel § 2
1) dyar

2) ereey

3) Strsret

4) gre; gaer

Ques # :49

which weekly paper was started by rajasthan seva sangh from ajmer to spread political awareness ?
1) rajasthan kesari

2) tyagbhumi

3) navin rajasthan

4) young rajasthan

file:///C:/Users/DIPL-1008/Desktop/ExamData/ExamData/148-Research-Assistant/sesspack/qpimages/QP_148-Research-Assistant.html

18/58



8/28/2017 QP_148-Research-Assistant.html

ST YT VY & AT fare SAPROT T 3 31T & FFa Areanfees O &7 Tahere s
frarar?

D) qroreeme el

2) e

3) et ToTEUT

4) a1 e

Ques # :50

which of the following statement is true regarding 'vijay- stambh' ? give the answer with the help of given
code. ( a) it is located at chittorgarh. ( b) it was built by maharana kumbha to commemorate his victory over
the sultan of malwa and gujarat. ( ¢) it has nine storeys. ( d) the construction of this tower was enstrusted to
jaita.

1) (a) and ( b) are correct.

2) (a) and ( d) are correct.

3) only ( ¢) is correct.

4) all are correct.

'"TAST-FaF & GFaY H FI 61 FUT e 87 R 7Y e i Werar § 3o & (2) TF Reals #
e & | () AGRION 7T 2 SHT FAATUT ATAAT- TSI & Goellel FY gl 3 ITT # FHarm a1
| (¢) TE At AT} | () TT TaF & AT & FAUR Star F1 AT Ao o7 |

D (a) 3R (v) wer |

2) (2) 3R () wETE

3) 8% (o) FETE|.

Dahradrg .

Ques # :51

who was the founder of sampa sabha ?
1) govind giri

2) motilal tejawat

3) manikyalal varma

4) surji bhagat

Y THT T HEATIF AT:
D) aifaee fardy

2) R dotad

3) ATfOTarreITer 9HT
4)WW

Ques # :52
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who among the following was tha builder of patawon ki haveli ?
1) diwan nathmal
2) diwan salim singh
3) gumanchand patwa
4) jorawal mal patwa

geal Y gdel &1 AT rafef@a A a Flaar?
D) &arer et
2) &aret rfore g

3) I A e

4) FRTEX FeT Teal

Ques # :53

kandora is an ornament worn on :
1) fore arm

2) ear

3) nose

4) waist

WW%
D) arsga
2) TeT T
3) ren &
1) FHAT FT

Ques # :54

tha main tejaji fair is organised in :
1) gothmanglot

2) nagaur

3) merta

4) parbatsar

qSITStt T F&T Ael FrNfoT A sar e
D) afsAmerea

2) amaikc

3) Faar

1) qdaax

Ques # :55
which of the following folk deity is worshipped by both hindus and the muslims ?
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1) pabuji
2) mallinathji

3) gogaji
4) hadbuiji

i@ aF daant & & e 1o feq @ gaaa i 3 § 2
1) ey

2) FefaTsh

3) Ay

4)33‘c|¢§ﬁ

Ques # :56

fort of koshvardhan is also known by the name :
1) vijaymandir garh

2) fort of bhatner

3) shergarh

4) chaumuhagarh

FaelsT T Y 3T fhT ATH § AT ATATE 2
D) fesrasfe e

2) 31T 1 fopelt

3) TS

Y <hagerare

Ques # :57

on which of the following occasions jalwa poojan is done ?
1) on the occasion of a marriage.

2) few days after child birth.

3) on the occasion of mundan ceremony.

4) on the occasion of starting the education of a child.

frrafaf@a & & fFw sreat W srear g R Srar g 2
1) faarg & 3 @

2) I3[ STe ot & o et are

3) Hol HEPR o T T

4) o3 & AgaRFe & IHTW R

Ques # :58

what is the name of the dance in which no musical instrument is used as an accompaniment ?
1) valar dance
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2) ghoomar dance
3) changa dance
4) terahtali dance

forer e 3 oY ofY arer o= 1 wraer 1@ fo e 2
D arer e

Y R

3) dar e

4) Rearel g

Ques # :59

which of the following places is famous for 'patthar mar' holi ?
1) mahavirji

2) bharatpur

3) beawar

4) barmer

frafafad e 7 9 5T T 1 'TeRAR e Rg § 2
D) Frgreish

2) AR

3) saTa]

4) SR

Ques # :60

manjira, tanpura and choutara musical instruments are used in which one of the following dance forms ?
1) bhawai dance

2) terah tali

3) ghoomar

4) dandia

FHIRT, AT, ST are =t 1 v e JF & R e 7 B sar @2
1) seré e

2) 3RE arel e

VR e

4 sifsar Fea

Ques # :61

data taken from publication 'agricultural statistics in india ' will be considered as :
1) primary data
2) secondary data
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3) both primary data and secondary data
4) none of these.

' IR H H FITETH ' yahreret A fod g @i Fgerda :
D yrafaes g&s

2) afarcher w

3) greIfAe THH T &fadIT THR

Y st ¥ S

Ques # :62

directorate of economics and statistics in rajasthan is situated in which city ?
1) ajmer

2) bikaner

3) jaipur

4) jodhpur

TSTEYT 3 3 vd wifead #1 Adenay g e F Rua § 2
D 3t
2) frHeR
3) S
4) Sherqy

Ques # :63

which of the following represents data ?
1) a single value

2) only two values in a set

3) different values in a set

4) none of these.

e & & Fier wHe FrgATar g ?
D) srver v 7o

2) wag A Hed

3) Teg & e 7

4) 33 | 1S LT |

Ques # :64

in tabulation source of data, if any, is shown in the
1) body

2) stub

3) foot note
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4) caption

ARV H AT T 3691, I gial, Fg1 W AT ITaT § 2
D) @ (body)

2) ST (stub)

3) grg feoqufy (foot note)

4) ofrsfar (caption)

Ques # :65

among following statements, which one is correct ?
1) classification follows tabulation

2) classification preceeds tabulation

3) both are done simultaneously

4) no criterion

T aFqeal A A ST AT aFqTT T E 2
1) gefferor st aRofTe & a1e aa &

2) gafferor S ARONTST & Tgo R &

3 At AT A

Y g A A €

Ques # :66

the relative frequencies in a histogram are proportional to :
1) width of rectangles

2) area of rectangles

3) diagonal length of rectangles

4) height of rectangles

U 3 o 7 3mTEE R SR B B
D smaat frafes &

2) 3t & &%l &

3) 3mrardt & faepot & oFaTS &

4) radt B FOrS &

Ques # :67

a frequency curve is a limiting form of a
1) histogram

2) frequency polygon

3) both histogram and frequency polygon
4) none of these.
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U TRFIRAT aF frasr AT w2
D g R

2) gRFIRAT SR

3) 3T T § SRESRET SgeLet

4) g3 | S ALY |

Ques # :68

sum of the square of deviations will be least when measured from :
1) zero

2) median

3) mode

4) mean

frererait & et &7 A1 g 8T & e fF e oy s
D a
2) g @

Ques # :69

which of the following represent median ?
1) first quartile

2) 25th percentile

3) 50th percentile

4) third quartile

ffaf@a & ¥ sl ar g Fr qutar g ?
D gerar aqde

2) qedrgar adH®

3) warEar adHS

b et g

Ques #:70

to compare the average sale of shirts of different size in two shops the most appropriate measure is :
1) median

2) mean

3) harmonic mean

4) mode
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ar gt A Raffieer wrg F FAaT Fr 3w st i goar w1 & O Pl 710 g9@ 9T

D) anfegenr

2) mrey

3) gIcHS ATEY
9 ago

Ques #:71

The geometric mean of five observations x; X, ....

D V(X1 Xge e X5)

%) (xl.xz.....xa]lfri
3 (X Xge . X5)
4) s 1

5

9iT &AL Xy X, ... X5 ol 0GR AR §
D V(X1 Xg e X5)

2) (1.5 xajlfa
3) (XX X35)?
H s 1

i=1%;

5
Ques # :72

a suitable mean for finding the average of proportions is :

1) arithmetic mean
2) geometric mean
3) harmonic mean
4) weighted mean

reqaral & 3itea & fodr et & Ae sUgFa g 2
D) gorear Avey

2) Jpoltear ATex

3) gXTcHS ATEY

4) sig Arey

Ques #:73

which of the following measure is least affected by sampling fluctuations ?
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1) mean

2) mode

3) median

4) hormonic mean

AT & ¥ i I AT yfoEd STaaEl A FA X FAIHRAT AT 2
D) #mer

2) garE

3) Ffeaa

4) grcHS AT

Ques # :74

the geometric mean of three observations 40, 50 and x is 10, then the value of x is :

) 12
2) 1
3 2
4y 4

ofteT FEATHT 40, 50 TF x FHT IVNCAT ATE 10 § A x FHT AT g1 :
) 12

2) 1

3) 2

4) 4

Ques #:75

The mean and standard deviation (5.D) of a variable X are @ & ¢ respectively
then the 5.D. of — (aX +b) is:
<

where a, b, ¢ are constants.

’ [ele
c
2) ag+ b
C
3) ac + b
4) ag

afe e v X &1 Ay vd AS fdaed &AM 0 3R o %HT%(&X+E:) &I
Hielh Tddelel GBI :

S8l a, b, c Tai® B |

) 2o
C

2)
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acg+ b
c
3) ag+ b
4) ac

Ques # :76

the mean of 100 students marks was found to be 40. it was found later that a mark 53 was read as 83. the
correct mean is :

1) 40.30
2) 40.70
3) 39.40
4 39.70

100 Faeaft & 3T FT ATET 40 ITAT 31T | T 91E F 9T T fF TF 37 53 Telell § 83 g

forT arT T Y 3T HE ATET §lOMT :
1) 40.30
2) 40.70
3) 39.40
4) 39.70

Ques # :77

the point of intersection of ogive curves corresponds to :
1) arithmetic mean

2) geometric mean

3) median

4) none of these.

Mg gt % gfade Mg & FAerare
D) #mer

2) aofeeR AT

3) anfegen

4) go7d 1S 77T |

Ques # :78

The following quartiles are obtained by graphical method.
@, =30,Q, = 38,Q; = 70 then the value of quartile deviation is :

1) 8

2) 32
3) 20
4) 40
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arhra fafer & foser =aged® urca e a2 §
Q;=30,Q, =38,Q; =70 & d 3Tl aqde fa=ee &

1) 8
2) 32
3) 20
4) 40
Ques #:79

Coefficient of variation of some observations is x . If all observations are

doubled, the coefficient of variation become e.x . What is the valueof e ?
1) 1\ 2
)
’ )
2
3) 2
4) 1

S VAU T FEOT 0T x & | A Faft qaToi Y g e S
dl UEROT U7 e.x §1 ATl § dl e ol Al I

1)
G
2
’ G)
3) 2
4) 1

Ques # :80

if open intervals are presents in a frequency distribution, the most appropriate measure of central tendency
is :

1) median

2) arithmetic mean
3) geometric mean
4) harmonic mean

I TRFIRT seeT # fagdid seaire g1 dl Feala gl H1 FAfts SUYFd AT g :
D feger

2) gATeR AT

3) Tt ATex

4) &S ATEY

Ques # :81
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the most appropriate diagram to represent data regarding monthly expenditure is :
1) histogram

2) pie diagram

3) line graph

4) frequency polygon

i @t ) Rt & ford e swea R ¥
D smrra o

2) qr$ farg

3) & o

#) SRERET T

Ques # :82

which of the following is not a two dimensional diagram ?
1) square diagram

2) multiple bar diagram

3) rectangular diagram

4) pie-diagram

s & & #ler w1 R gfe-3mamsh R i 8 2
D) gt R

2 sl o

3) g1 fers

4) or$ fry

Ques # :83

histogram is suitable for the data :
1) continuous frequency distribution
2) discrete frequency distribution

3) individual series

4) all of these.

e R R et & o swgrar ¥
D) aaa smafa e

?) @ftsd smgfa seeT

3) cafaera s@er

1) gsiy

Ques # :84
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from histogram we can easily find the :
1) mean

2) median

3) mode

4) none of these.

UF 3T T G@RT GIerdT @ AT A1 ST FFar @ :
D are

2) FTeaehT

3) s

Y gort q S T

Ques # :85

pictograms are suitable for the data given in :
1) fractional number

2) whole numbers

3) both fractional number and whole number

4) none of these.

ferlir s et R a3 vt & o sugarar 82

D) e gt
2) quf TEaTd
3) iaq-ﬂ Q:chE:”[Uj 'QH'CJ'\U?HQQZ”IUJ

4) g3 | 1S LT |

Ques # :86

if the harmonic mean of two numbers 'x' and 'y' is 6. if x = 4, then y will be

1) 4
2) 8

3) 10
4 12

ﬂﬁﬁﬁﬁ'x'm'y'ﬂwmﬂ'6%,ﬂﬁx=4%?ﬁym:

1) 4

2) 8

3) 10

4) 12
Ques # :87

the sample mean of two data sets a and b are equal and then coefficient of variations are respectively 44.8
and 56.0 , what is the ratio of standard deviation of set a to that of setb ?

1) 1/5
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2) 4/5
3) 5/4
4) none of these.

TEATHT & ST G a 3 b F ATET AT § 3R 377 THIOT IOTF FHAU: 44.8 AT 56.0 | TG a

FTHHE b F ATYET A ATeAsh fA<TeleT HT HJITT FATE ?
1) 1/5
2) 4/5
3) 5/4

4) 313 | S LT |

Ques # :88

for any set of data , which one of the following is true :
1) AM. = G.M. = HM.
2) G.M. = H.M. = AM.
3) HM. = G.M. = AM.
4) HM. = AM. = G.M.

esl & Al woE & oY, e A A Flar g @ :
1) o ATEd = UMK AT = glcHs AR
2) IUIRR AT = §RIcH® AN = FHA0IdIT A
3) EXIcA® HIET = AU AT = Iharvlda A
4) BIcHS ATET = FHaOIdIT AT = TONR AT

Ques # :89

for some data , mean and variance are given as 25 and 10 . now if all the values given in data are multiplied
by 5 then new mean and variance are :

1) 125,250

2) 30,35

3) 125,50

4) none of these.

UF T3] & WHE T ATCT T AT HAA: 25 7 10 A A § | af 3rferst Y wsft et A 5 &

T T AT ST &Y 7 ATET T JHIOT B
1) 125,250

2)30,35

3) 125, 50

4) 33 | S ALY |

Ques # :90

which of the following measure is based on all observation of the series :
1) median
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2) range
3) quartile deviation
4) standard deviation

oot & & e Ao, sj@en & woft A woameRa §
D) mifeger

2) Yo7

3) dgi?flch CERG

1) AT TATeleT

Ques # 91

a null hypothesis is a :

1) negation hypothesis

2) hypothesis of no difference

3) hypothesis under test for possible rejection
4) all of these.

TF T IRFEIATS

1) Srrrrcses aReroden

2) Y e T TR

3) TQETOT & 3Tl TREFETT AR e &
4 I gefr

Ques # :92

an alternative hypothesis is one :

1) which is to be rejected.

2) which is to be accepted.

3) against which null hypothesis is tested.
4) none of these.

% JFfeus IRFeUATIE S :

D o8 eRea e §

2) {38 TR FATE

3) fores faeee Qe IRHed=T 1 98707 e ST &
4) 5o A RIS G|

Ques #:93

what is level of significance in testing of hypothesis ?
1) Probability of rejecting H, when it is true and fixed at an arbitary level.

2) Probability of accepting Hy when it is false and fixed at an arbitary level.
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3) Probability of rejecting H; when it is true and fixed at an arbitary level.

4) Probability of accepting Hy when it is false and fixed at an arbitary level.

aRFeqaT gfiaTor & rdewdr FT T FATE 2

) H, #T 3EAFR et T NAFHAT F9FF 98 TqEr g, TUT 39 Th
TR T 9 T@T IR ¢

2) Hy, I TR &el =l ISl Sidfe dg Iadd & , d4T 34 Tk
HAAR TR 9T @M TATE |

3) W, I IEAFR F R GIfARdT Sdfh 98 TE &, TAT 38 Th
HAAR TR 9 I@TI-T &

4) H, F TdHR A T TAFar safe ag ed § , 907 39 vh
HAAR TR 9T @M TATE |

Ques # :94

rejection of null hypothesis when it is true is called :
1) type i error

2) type ii error

3) both i & ii types of errors

4) neither type i nor type ii error

o T IR WEl 81 3R 37 IdFR Far I ar 3w
D) srera g 1 7fe Fgenc &

2) gfacher 9ehR &r I Fgere &

3) g wa i FhR T et Fgena &

4) 1 At e R Y AT & A TR A e FEernc §

Ques # :95

acceptance of null hypothesis when it is false is known as :
1) type i error

2) type ii error

3) both i & ii types of errors

4) neither type i nor type ii error

TF T TRFETAT 1d aY Td 8 3R 38 TfaR fFar I aY T it et g
D) gt g &1 qfe Fgernel &

2) i veR T I Fgerd &

3) s v gRIcRT SR B IR e ¥

4) o1 Y g2 TR Y AT & ST SR B I Fger &
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Ques # :96

For testing a hypothesis @ = 70 against & = 70 the critical region
of the test will be on

1) left one tail

2) right one tail

3) two tails

4) nothing can be said

U TRFeTar 8 =70 TaFg 8 = 70 & & oiwior & Fifas &7 ghm
D) gfw o Ay aren

2)  gRrues fayarer

3  erfayarer

Y 38 a9d T AL T o Fehell

Ques # :97

critical region provides basis for :
1) rejection of null hypothesis

2) acceptance of null hypothesis

3) no decision about null hypothesis
4) all of these.

Fifeds 8T MYR SATE

D) e aRehesTT Y 3R et & o

2) g IREFETET Y TR FA & o

3) T IREFeTT & foId g AT AET ofel o fordr
4) I gefr

Ques # :98

the area of critical region depends on :
1) size of type ii error

2) size of type i error

3) value of statistics used

4) size of sample

Sifed &1 T &IThel [T FIATE :
D gfaera yer 1 e & AT

2) g g i e & AT W

3) ST 3 37T aTelY FifeTehT & AT W
4) i F AT W
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Ques # :99

for testing the independence of two attributes, the degrees of freedom for a chi-square test in a 4 x 3
contingency table is :

12
2) 9
3) 6
4 8

&Y I[uTt Y FaaTar T geT F A TF 4 x 3 3T FRON FH F7$ o qfator f F@ATAr P P :
) 12

2) 9
3) 6
4) 8
Ques #:100

For a given 2 X 2 contingency table

al|b|R,
c|d R,
€y Ca N
The formula for chi-square test of independence of two attributes is :
D (ad — bc)?
Ry Ry 0
2) N(ad — bc)?
Ry R; ¢ 0
3) (N(ad — bc))?
RiR; ¢ 0
4) (ad — bc)?
NR{R;cyc;

Ueh 2X 2 R WROM # IO 1 Fadadr & 9601 & o
IS 3T G&TOT HT A I :

a|b|R,
c|d R,
CilcyI N
1) (ad — bc)?
RyRyc ¢
2) N(ad — bc)?
RiRyc ¢
3) (N(ad — bc))?
RiRyci ¢
4) (ad — bc)?
NR{R;cyC,
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Ques #:101

for the chi-square test for goodness of fit, which of following assumptions are must ?

1) No cell frequency should be less than 5.
.

2) K
So-F
i=1 1

i=
3) N> 35
4) All of these.

AT Fegar & fad 18 Fot qderor & ford fove=r & & el Aregar sraeaw 8 2
1) fepelt off a1 T IREaRAr 5 ¥ & =gl gl arigd

2) K K
Z DE- =z EE- = N
i=1 i=1

3) N> 35

D I s

Ques #:102

who gave the chi-square test of goodness of fit ?
1) r. a. fisher

2) j. neyman

3) karl pearson

4) snedecor

FHSIT geodT & ford w18 ot gdiaror fresr feam ar 2
D 3. v R

2) 3. FgAA

3) et drawEe

1) T3

Ques #:103

the formula used in chi-square test of goodness of fit is :

1 k
) 0?
—— N
Ez'
i=1
2) k
P
L E;
i=1
k
3) E?
dtow
£ 0,
i=1
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H &g
> oW
e~ 0;
i=1
AT FoodT & ford F1 Tt qharor FT AL :
) x 0?
>t —w
1 E;
i=1
2) &,
> oW
‘1 E;
i=1
3) X E?
dton
£~ 0
i=1
9 E g,
Y tow
1 0
i=
Ques #:104

if there are k classes in a chi-square test of goodness of fit. the degrees of freedom of the chi-square are :
1) k

2) k-1

3) 2k

4) 2k-1

I gHS goodr & o w18 a9t wdiaror 7 k 397 § ot F1$ 31 wdiaror F T FIfe el
1) k

2) k-1

3) 2k

4y 2k-1

Ques # :105

name the factors upon which the domain of survey depends :’
1) objectives

2) availability of time

3) resources

4) all of these.

T FIETOT T FIIAT fver a1al X e Far §
D) 2ot

2) FFT FY 3T

3) gt

4) I galr
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Ques #:106

in a population of n units we draw a sample of size n then sampling fraction is :
1) N

n
2)

=
I

(8]
~

[y
I
z|z23 =

4 n
N

uF A fae n sH1EAT § 30 ¥ IR 37 wa n 31T 1 wfeet frera § @Y wiareraer srepsmer
ghem :

) N

n

\O]
~
=
I

N
[y
I
===

4
N
Ques #:107

in a population of size n , if we select a sample of size n then the finite population correction factor is :

) N

I v n $HTEAN ATl FATE F n ATT F7 gl Tar I A WAT FARE e sraacd (finite

population correction factor) gl :
1) N
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Ques # :108

a sampling frame is:

1) method of drawing sample

2) total number of all possible samples
3) list of units of population

4) list of units of sample

qﬁ?ﬂlﬂ'ﬂ’_ﬂ'%:

D) gfeest @ goret 1 Rfer

2) gerea danfaa wiaeet & dear
3) wfe i geprea A1 G

4) yfdest i gerrsat i g

Ques #:109

simple random samples can be drawn with the help of :
1) random number table

2) chit method

3) roulette wheel

4) all of these.

W Arefeos gfagel 1 9aa Rrafaf@a # @ FFa A Ace d Farsmarg 2
D) arefeoe 3t dr arofr

2) gt SATey arel AT @

Dy FaF A

4 I gefr

Ques #:110

in proportional allocation, if the sizes of all strata are equal, it reduces to :
1) neyman allocation

2) equal allocation

3) optimum allocation

4) none of these.

U HATTC et 7 7 woft Tl &1 A9 e Y 9 ot & aRafela g s
D) dgae & Fga=

2) gareT fraae

3) 31eTgperad e

4) go13] | 1S LT |

Ques #:111
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tho total number of samples of size n that can be drawn from a population of n units by simple random
sampling with replacement (srswr) are :

DN-—n
2) N™
3) (N
(x)
4 N

n

n 31541 aTelt FATE F F wfarwia wfea ava e wfawasr @ n 719 & Fo yfaged aa
W%‘
) N—n
2) NT
3) (N
()
4) N

n

Ques #:112

the total number of sample of size n that can be drawn from a population of n units by simple random
sampling without replacement (srswor) are :

) /N

()
2) N©
3) N—n
4 N

n

n $H15A1 aTelt FATE F faar wfarniRa i3 ava aefoos wfoaasr garT n &9 & Fo gfaqe
TARX ATTFA & :

" ()

2) N™
3) N—n
4) N

n
Ques #:113

for simple random sampling without replacement the sample mean for estimating population mean is
1) always unbiased estimator
2) may or may not be unbiased estimator
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3) always biased estimator
4) none of these.

e yfaTaRa aer oo yfaayas Arey, gAfee & ATeT & 3ndhds & o :
D) g8 311 3ot glaT ¥ |

2) 31Tt gr FehaT & 3 AT o |

3) gaver TAeIe 3o BT & |

4) ge1at @ 1S 7L |

Ques#:114

The unbiased estimator of a2 in simple random sampling with replacement is :

1 _
Where 52 = — L (x — x)*

1) 2
2) N-—-1
52
N
3) N
52
N-—-1
4) n—1
g2
n

WA Aefcas Iidadd Iiaeaiad aigd & o & J=isldd ATheld §
Sidieh .'5-'2:L ?:1[xf_-f)2

n—1
1) 52
2 N-—-1
) $2
N
3 N
) 2
=
4 n-—
) 2
T
Ques # :115

for proper representation of population in cluster sampling each cluster is further subsampled then the
resultant sampling scheme is known as

1) cluster sampling

2) two-stage sampling
3) stratified sampling
4) systematic sampling

AT I 3T T I]d I & 0 I o0 vfdwae # & 0 o0 & g1l #1 9419
fohan S o 7 wicaae Rfey fgare

D are gfaee

2) gfRoT yiaaae
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3) gafka wiamrzet
1) prTTE s

Ques#:116

simple random sampling without replacement is superior to simple random sampling with replacement
because :

1) it is simple

2) it is easy to get sample
3) it is more efficient

4) none of these.

T Areees gfaraia IR ufawws , s aees afarafa afta ufwga @ srear
FINF

Daymmard

2) e ufaeel T & ured gar &

3) I R ety

4) gaTat q 1S 7L |

Ques #:117

The variance of sample mean in SRSWR and SRSWOR are V; and V, respectively.
let K = V,/V;, then

1) K=1
2) K <1
3 KkK=1
4) Nothing can be said about K

T Arefcas Iidadd Iideaiad afgd Ud O3d dRicos 9iaddst
gfaeenfa (R & gfdqel area & gERor FAL: v, d v, § au
K=V, /v, &

) K=1
2) K=1
3) K=1

4) K & aiad $o off w61 Fgl S FehdT |

Ques #:118

which of the following is not a probability sampling ?

1) simple random sampling

2) stratified sampling

3) purposive sampling

4) cluster sampling
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feafafaa & @ sl vieas wRwar wamaRa adt 2
D wxar arefeoes yfaaasT

2) TR wfaas

3) geseT ufaaweT

4) e ufaaas

Ques #:119

the allocation providing smallest variance of the estimator under stratified random sampling :
1) arbitrary allocation

2) neyman's allocation

3) equal allocation

4) proportional allocation

Fala aefRo® afaasr & sTwds F1 ~gAad THIT A a1l Aaa g :
D) Rfeos frads

2) ATHT 1 Trad

3) g e

4) gt forereter

Ques #:120

stratified sampling comes under the category of :
1) unrestricted sampling

2) subjective sampling

3) purposive sampling

4) restricted sampling

TaRa wfaaa=T # g7 fhy geffehvor & T :
D) sfaafyg ufaea=

2) egfdferss giaaaes

3) serEir Sfaaas

1) T gt

Ques #:121

a population is divided into three strata consisting of 16, 24 & 60 units respectively. if a sample of size 25 is to
be selected, the number of units drawn from each strata with proportional allocation is :

1) 6,4,15
2) 4,6, 15
3) 8,8,9
4) 4,8, 13
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T AT Y et Tawon & Rsnfora fFam aram & fS=1a) w3 16, 24, 60 SH1EAT ¢ | IS 25
aRoTraAT F1 v gfceel o S af gaATqare faaaer fAftr & 9@« T F @ o 78 sFsAr A
WTQTPI' :
1)6,4,15
2) 4,6, 15

3)8,8,9
4)4,8,13

Ques #:122

in usual notation which of the followiong is true :

D V@) 2 V3w 2 Vndses
2) V(ﬁsz)ﬂ.’ = V[ﬁsz:)? = V(fﬂ}SHS
DV (F)ses = VTe)p =2V (sn

4 — fud uc
) V(F)sas 2 VFsdn = V(e )p

AUROT Al & Peafa@a A A slaaraca g2
D VFa)e 2 V(Fedy = V(F)sas
2) V(Fe)w = Ve = V(F)sas
3) V(F)ses 2 VFsrdp = V(Fsedn
D VTsas = Vsdw = V(s de

Ques #:123

regarding appropriate number of strata which statement is true ?
1) lesser the number of strata better it is

2) larger the number of strata poorer it is

3) larger the number of strata better it is

4) not more than 10 items should be there in each strata

fhda TR FTTAAT RTINS TeH A FlT AT HFYT TE§
D) Toraer €aRt &1 e S8 8191 31T 31T g19m

2) TSrdelT TRt &l e 3T @YoM 3=l TIe g1

3) TSaaAT ERT T e 31T goT 3T 31Tt 21en

4) ol of TR & et i T 10 I 310 8T gl e |

Ques #:124

cluster sampling in practice is used when :

1) sampling frame of last stage unit is not known

2) sampling units are well arranged

3) both sampling frame of last stage unit is not known and sampling units are well arranged
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4) none of these.

Teo Gfaaae FT TR ATUROTEAT 1 T Srar g o« -

1) 3n7&rr <=0t T Seprgat T FTararaeT Sher Sqeletr 78T &Y

2) giarageT SHIeal 3T dig U SHASE &r

3) TRy TROT A 3RS HT UTATTA AT 3TY FET &1 Ud TTwrdeT ST T g A HAG
gl

4) goTal QP T |

Ques # :125

as the sample size increases, the chances of human bias are minimised in case of
1) simple random sampling

2) stratified sampling

3) systematic sampling

4) purposive sampling

Ife gfagel &1 WFR 3#AF w3 T A AT Raa Fa @) A ag gem:
D) gva aefeos yfaaas

2) TR gia=rast

3) praEe ufaerae

4) g yfaaa=

Ques #:126

out of the following, the variances of sample mean can not be estimated unbiasedly for
1) simple random sampling

2) stratified random sampling

3) systematic sampling

4) none of these.

= & & o Raftr & wfagel & Atew & qavor #1 AT FaT A8 FAT AT FhaTE, TEE !
D) gt arefRos wiaage

2) wafta arefeos wiaugs

3) prEaTe yiawde

4 gofal & IS AT |

Ques #:127

The systematic sampling will be more efficient as compared to SRSWOR if intraclass
correlation coefficients p is

1) p=0
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2) p=20
3) 1
p== nk—1
4) None of these

,k is interval of systematic sample

SRSWOR I efell & AT Fiaadsl FaGr gal ghfl Al Jeadrel Hgasd-el
T p &

1) p =0

2) p=0

1
3) p<———r , Stdih k shHeeE Uit et &l el & |

4) g ¥ HIE A |

Ques #:128

in respect of chi-square distribution , which one of the following is true ?
1) mean > variance

2) mean < variance

3) mean = variance

4) nothing can be said

FE Tt FHT AR AT Faaradi g ?
D aAre > garor

2) AT < GEOT

3) FTET = gEROT

%) 7 ot TET T S el

Ques #:129

the error arises when we are examining only a part of population is known as :
1) non-sampling error

2) sampling error

3) both non-sampling error and sampling error

4) none of these.

gﬁﬁwﬁvmgﬁﬁvaﬂﬁmmwmmﬁmﬁm&ﬁgﬁﬁﬁm%

D srafaere 3fe
2)§|ﬁ€m?r§1%

3) sfaaae 3R ud ufaeee 3fe
4) goTal Q IS A |

Ques #:130
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in stratified random sampling if the variances of all the strata are equal then neyman allocation reduces to :
1) optimum allocation

2) equal allocation

3) proportional allocation

4) none of these.

T T grefos gfaaad & Ife GaTd Ta &1 TH90r AT & ST Y A9H« &7 fAaaer
gqiafdd g s :

D) gt fraras

2) A et

3) gATTATeh foreretet

Y gt A g G

Ques #:131

while the first five year plan of india aimed at achieving self sufficiency in food grains, the main focus of
second plan was on

1) infrastructure

2) telecommunications

3) energy

4) industrial development

BT 0 Y T TR FI=1T T T8 WIEhTe=1 H T AT IToet HAT 9T, g drera
T HEY 38T UT:

D) gramera fasre

2) & wrgfadea

3) 3

4) 3trenfres faera

Ques #:132

out of the total proposed outlay of 4333.7 thousand crore for the xii five year plan, allocation for which of the
following sector was the highest :

1) energy

2) transport

3) rural development
4) agriculture

IRgd! Yerayi AT & A1 aed 4333.7 §9IR HA3 & A AT a7 ) gaifasw uf¥r
rafed Y g oft:

1) 35

2) yRagsT

3) gyraoT faeTE
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4)@

Ques #:133

with a total road network of 52.3 lakhs km. , rank of india in the world is :
1) first

2) second

3) third

4) seventh

Fel 52.3 A .. T =l & 1Y HRT FT T A TUTE
D gers

2)@@,3

3)(—_‘@-5

4) grcat

Ques #:134

targeted annual average economic growth rate of india during the xi plan was :
1) 7.0 percent
2) 8.0 percent
3) 9.0 percent
4) 9.6 percent

TAREd! ety Fere # R A aftra affe sitwa anfds gite o fawer o
D) 7.0 wfaera
2) 8.0 wfaera
3) 9.0 gfarera
4) 9.6 wfaera

Ques #:135

which of the following states has the highest per capita net state domestic product in 2014-15 ?
1) maharashtra

2) tamilnadu

3) haryana

4) uttarakhand

2014-15 F = & & forw U= 7 9ia S3fFa ee T oe] 3cure watfes a1 2
D mgrreg
2) affrerTg
3) gR=mom
1) IeeRTEs
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Ques #:136

which of the following is not an essential ingredient for the adoption of green revolution ?
1) hyv seeds

2) irrigation

3) plant nutrients

4) support prices

eRa wifea A fFafeafa & oY fAFT & ¥ wia 91 dcg sraegF A ¢ 2
D wg o & &

2) fefms

3) 3=

4) gada fraa

Ques #:137

which tax among the following carries one nation one tax concept in indian public finance?
1) corporate tax

2) income tax

3) value added tax

4) goods and services tax

| 7 3 59 #7 F a1y ARAT Faenfas faca & et & v g va F A rauron AT 2
D o e

2) 3T

3) Fegafiara=

4) aFq vd Har

Ques #:138

during the post- resurgent rajasthan partnership summit (2015) , among all the mous signed which sector
had the maximum proposed investment

1) infrastructure

2) petroleum and minerals
3) energy

4) manufacturing

2015 & Rrfe Toredre MERRAT Fffe F qeard fSde w317, W eFdmeR g 34 5 8
FT YT fader gaifaF g 2

D) gremere faema

2) QYo aH T @hetel

3) 3sfy
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1) rafastor

Ques #:139

where is the main thrust of ' pramparagat krishi vikas yojana ' recently introduced in rajasthan ?
1) intensive irrigation

2) more use of chemical fertilizers

3) better extension facilities

4) organic farming

BTl 1 3 TIeYTeT 3 YT Y 718 ' IFRmTed FTY ey Avsren ' & 7w a w1 fFw av 7 fea

Ques # :140

how msme sector is the foundation for a strong manufacturing sector in india ? fact ( a) it provides more
employment with less capital. fact ( b) it supplies instruments and inputs to large industries. fact ( ¢) it is the
entry point for workers and entrepreneurs who move through it to large scale enterprises. select the correct
fact.

1) a and b are correct
2) b and c are correct
3) a and c are correct
4) a, b and c are correct

HRT A TA.TH.UA.S. 817 U Aorqe Aol &7 Fr gfaaeg fra awg 8 2 a7 (a) T@ Gl F a1y
3178 VST IYTeY FIAT § | T (b) I§ I3 3G T 3UFON 3R et 1 el FIar g |
qLT () T§ 3 FHiAS! AR AR & o waer fg & Y 39 Arewsr @ 93 3974t & S 9
JEGE LT TR

Da3ikb@dr g

2) b 3R c T

3) a 3R c TE Y

4) a,bﬁ?cﬂ'@f%ﬂ

Ques # :141

which of the following growth target was set for agriculture sector in the 12th five year plan of india ?

1) 3 % average annual growth rate

2) 3.5 % average annual growth rate

3) 4 % average annual growth rate

4) 4.5 % average annual growth rate
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HC Y 12 &t garadiar Jierar & FT¥ & A gt & fd e & @ i 3 a7 faifRa frar
g2

D3 9 3ttaa aif¥es gfeg ax

2) 3.5 % 3iad aTi¥e gitg aX

3) 4.9 raa e g X

4) 4.5 9% 3itaa af¥e gfeg aX

Ques # :142

before independence, ' a plan of economic development ' which was popularly known as the bombay plan,
was prepared by -

1) national planning committee

2) eight leading industrialists of india
3) m. n. roy

4) pt. jawahar lal nehru

T @ 4, 31T e &) v A ' Y S ore | & A 8 aiieg of, A drard o -
D) reér 3t Gfafa eanr

2) HRE & 316 YT SeAPTITaat ganT

3) TH. U, AT & @

1) gffeq STaTEY ord Ae%

Ques # :143

who was the real architect of the second five year plan of india ?
1) prof. p. c. mahalanobis

2) pandit nehru

3) d. 1. gadgil

4) krishanmachari

HRA & gfadIT Taauia Aer=IT T qreaiaes fred) sl ar 2
D) grtpae o, &Y. Agemeted

2) gfsa 7ge

3) €. 3R, IS

4) FoTATATY

Ques # :144

pandit deen dayal upadhyaya grameen kaushalya yojana (ddu-gky) was launched in the year 2014. it aims to

1) skill youth and provide them tool kit for self employment
2) skill poor rural youth and provide them jobs
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3) skill youth and provide them concessional finance for self employment
4) skill youth and provide them interest free loan and subsidy to start their own business

ufose &l gaTer STy ATHYOT Hterer ATl (B3, - SiF. ) a¥ 2014 F &y AE A

SHPT 3T & -

1) ZAT3AT Y el FRIETT AT 3 FTARISHIR & fd 3¢ SURIUN I Teh fohe T e |

2) graror fAeieT JaT3it ot lerer HTRAGTOT STaTeT AT T T ST FETT |

3) gam3it @ Ferer FfAETOT AT 3R 37 FRISTR & Fordr RArrel faed 3ersey #am |

4) gar3it Y spleret TTRAGTOT G1T UG 358 AT STGHTT YE Ft o Tord SATST FaFed HOT AR e
e |

Ques # :145

which of the following state was the first to establish panchayati raj institutions ?
1) rajasthan

2) andhra pradesh

3) west bengal

4) tamil nadu

G TT TEATHT Y TATIAT Fe qTelT IgolT I HisTHT 4T 2
D) roreams

2) remaeer

3) qiasY Sarrer

4) afareeg

Ques # :146

as per the second india human development report 2011, rajasthan stands on which of the following position
among 29 states ?

1) 1lth
2) 13th
3) 17th
4) 18th

g s AT AT 9fdesT - 2011 & AR 29 A=A F Tored= 1 Rafa ¥ -
1) somedt

2) aedt

3) et

4) 3rorEdt

Ques # :147

who was the first vice chairman of niti aayog ?
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1) shri ramesh chand

2) shri bibek debroy

3) shri narendra modi
4) shri arvind pangariya

Aifa 3maNer F yus IuregaT FiT & 2
D) sy @yer v

2) &Y [9der SR

3) it Si¥eg A

4) 2y 3RTAee greTeTfEar

Ques # :148

the per capita income at current price of rajasthan for the year 2015-16 was
1) rs. 57391
2) rs. 69018
3) rs. 75201
4) rs. 82325

TSEATT F T 2015-16 7 =7e] Frovat 9T wfer safare ama ot :
1) 57391 sy
2) 69018 ®I
3) 75201 TG
4) 82325 TG

Ques # :149

which of the following cities in rajasthan are shortlisted to be developed as smart cities :-
1) jaipur, udaipur, kota, ajmer

2) jaipur, alwar, jodhpur, udaipur

3) jaipur, ajmer, alwar, udaipur

4) ajmer, udaipur, jodhpur, alwar

frrafaf@a F @ sl & aet A T 4T & w9 7 Rafa w1 ¢q Rfeea frarmar g 2
D) SRR, 35, e, 3R

2) SR, HAR, SR, 3EAR

3) S, ISR, AR, 3GT

4) 3R, 3EA, SR, 37efa?

Ques #:150

the term " hindu rate of growth " was given by :
1) raj krishna
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2) ¢ subramaniam
3) d. p. dhar
4) j. n. bhagwati

" e YT 31w Iy " 3rauRoT e qarr &t ars 2
1) et o

2) &Y. geHATAH

3 & er

4) . T, Ty

Ques # :151

arrange the following memory units of data in ascending order. giga, tera, kilo, mega
1) mega, tera, giga, kilo
2) kilo, mega, giga, tera
3) kilo, mega, tera, giga
4) kilo, tera, mega, giga

o AR AEH A ded g‘ﬂ' FH A STAN- giga, tera, kilo, mega

1) mega, tera, giga, kilo
2) kilo, mega, giga, tera
3) kilo, mega, tera, giga
4) kilo, tera, mega, giga

Ques #:152

which of the following is the shortcut key to rename a folder in windows operating system ?

) fl
2) f4
3) 2
4y f7

fo 7 & FlaHY windows operating system H PIeST &1 ATH dGoll Y ATEHe AE § 2

1) fl
2) f4
3)) 2
4) 17
Ques #:153

which of the following is a volatile memory ?
1) rom

2) ram

3) programmable rom

4) erasable prom
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AT & ¥ Sl adesT AN 7 2
1) rom

2) ram

3) programmable rom

4) erasable prom

Ques # :154

what is the full form of ascii ?

1) american standard code for information interchange
2) american standard code for information internet

3) automatic simple code for information intranet

4) australian standard code for information interconversion

ascii FT I ATH FATE ?

1) american standard code for information interchange

2) american standard code for information internet

3) automatic simple code for information intranet

4) australian standard code for information interconversion

Ques # :155

which of the following is not a web browser ?
1) opera

2) safari

3) firefox

4) acrobat reader

T & @ Flear ag AR AL R 2
1) opera

2) safari

3) firefox

4) acrobat reader

Ques # :156

what is the full form of bec in the context of e-mail composition ?
1) bold carbon copy

2) blind carbon copy

3) blocked copy content

4) blue copy content

foeeT 3 ¥ FITAT bee FT QA 8, $-A F TRIET A-

1) bold carbon copy
2) blind carbon copy
3) blocked copy content
4) blue copy content
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Ques # :157

which is not an internetworking device?

1) hub
2) bridge
3) switch
4) usb

fa#=T & ¥ 4T internetworking device sTgT & 2

1) hub

2) bridge
3) switch
4) usb
Ques # :158

which of the following is a database management software ?
1) mysql

2) db2

3) ms-access

4) all of these.

fae & @ Flerar e Aderde AireaT § 2
1) mysql

2) db2

3) ms-access

4) all of these.

Ques # :159

which of the following is valid formula in ms excel 2010 ?
1) =al+a2

2) =add al+a2

3) al+a2

4) sum al & a2

ﬁﬁ'ﬁ#mm@ms excel 2010 ﬂ"\qﬁ'%"
1) =al+a2

2) =add al+a2

3) al+a2

4) sum al & a2

Ques #:160

in ms excel 2010, shortcut key to prepare chart from selected cells is :
1) 2
2) f4
3) fl1
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4) f6

ATSHIATFE TFA 2010 F TITAT cells ¥ IATE T & A eféahe Trer & 2

2
2) 4
3)  fll
4 f6
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